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SET-K

ENGLISH
Question Nos. 01 to 25

Directions : Read the passage carefully and
answer the question No. 1 to 6 based on it :

Goa is on the west coast of India. It is
surrounded by Maharashtra, Karnataka and the
Arabian Sea. Panaji, the capital of Goa, is situated on
the left bank of Mandovi river,

Margo is the city which is linked by rail to the
rest of India. The other city worth visiting is Vasco-
de-Game.

Goa has some of the most beautiful beaches in
the world. Amoné the famous ones are Calangute and
Colva.

Goans, as the people of Goa are known, love
music and dance. They follow different religions and
as a result Goa has many churches, temples and
mosques. These places of worship are famous all over

the world for their beauty.

1. Mandovi is the name of a -
(A) Queen (B)
(©) Ship (D)

River
Beach

2. Margo links Goa to the rest of India by :
(A) Rail (B) Road
(C) Air “(D)  Sea

3. The people who live in Goa are called

(A) Hippy (B)  Christian
(C) Goan (D) Colva
JPDETKW / K
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4. Main hobbies of people of Goa are :
(A) Music (B) Dance
(C) Botha&b (D) None

5. The places of worship which can be seen in

Goa are :
(A) Churches (B) “Temples
(C) Mosques (D) “All of above

6.  People working in same department or office
(A) Colleagues (B) Mates
(C) Fellows (D)  Companions

Select the correct passive voice

7. The boys laughed at the beggar
(A) The beggar laughed at the boys
(B) The beggar was laughed at by the boys
(C) The beggar would be laughed at by the
boys
(D) The beggar was being laughed at by the
boys

Select the correct option out of the four

alternatives given below :-

8. Rakesh was hour late for the class
(A) an (B)" ' a

(C) the (D)  none
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9. Heisthe m'an_,__ __all admire.
(A) which (B)  that

(C) who (D)  whom

Direction : Out of four alternative meaning, pick
the most appropriate meaning for the underlined

idioms & phrases (Q 10 to 12)

10.  His shop has come under the hammer
(A) Dismantled by a bulldozer
(B) Sold by auction
(C) Destroyed by flood
(D) Confiscated by the Government

11. He gave vent to his feelings.
(A) Expressed
(B) Suppressed
(C) Secretly disclosed
(D) Took control over

12.  He was so brave that he never lost his head
(A) Lost in the battle
(B) Had pain in head
(C) Lost his presence of mind
(D) Lost his money

Direction :- In each of the following questions, out
of given alternatives, choose the one which best
expresses the meaning of underlined part of
sentence (Q. 13 to 15)

13. Millionaires become eccentric in their old age.

SET
14.  Physical courage urge a man to risk injury o;
death.
(A) Compensate
(B) Fort

(C) Persuades
(D) Forbids

15. Ashish did not admit his mistake in tl

beginning.
(A) Commit (B)  Apologize
(C) Accept (D)  Realize

Rearrange the following words & phrases to fori
meaningful sentences (Q. 16 to 17)

16 4] invention
iii) greatest iv)
(A) (1), (iv), (ii), (iii)

(B) (v), (1), (iii), (ii)

(©) (iv), (i), (@), (iii)

(D) (iib), (ii), (i), (iv)

perhaps man's 1)
the wheel is

17. i) is acknowledge as
ii) India
iii) the finest mild coffees
iv) the producer of
(A) (i), (1), (iv), (ii)
(B) (i), (1), (iv), (iii)
(C) (), (iii), (iv), (i)
(D) (i), (ii), (1), (iii)

Direction : Pick out the adverb from the given

sentence.

[

(A) Irritable (B)  Peculiar
(C) Dull (D)  Miserly
JPDETKW / K
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18.  The nice child is sleeping soundly.
(A) Sleeping  (B) Nice
(C) Soundly (D)  Child

Direction : Fill in the blank with appropriate

preposition. :
19. Thave not spelt................ yesterday

(A) since (B) for

(C) till (D) from

In each sentence below (Q- 20 to 21) there are two
blank space. Below each sentence, four pair of
words are given. Pick out the most appropriate
pair to fill in the blanks in same order to make the
sentence meaningfully complete.

20. The factory workers threatened to launch
and indefinite strike from next month
to their demands.
(A) did, get (B)
(C) were, meet (D)

nearly, fulfill
have, press

21. The Government has  _a waorking group
to technological gaps. in selected
industries.

(A) constituted, identify
(B) formed, locate

(C) organized, spot out
(D) planned, pin-point

Choose the correct connector from the four

options given :

JPDETKW / K
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22.  Suresh threw the stone____ it missed the dog
(A) while (B) but
(C) still (D) that

Transform the following simple sentences into
complex form & choose the correct answer
(Q.23t024) *

23. The teais too strong for Rahul
(A) The tea is very strong that Rahul cannot
drink it.

The tea is so strong that Rahul cannot drink
it.

(B)
(C) The tea.is too strong that Rahul cannot
drink it.

(D) Theteais very strong for Rahul to drink.
24.. "No other girl in the school is as intelligent as
Meena is

(A) Meena is more intelligent than another
girls in the school.

(B)
(©)

Meena is an intelligent girl in the school.
All other girls in the school are less
intelligent as Meena is

(D) Meena is the most intelligent girl in the

school.
Direction :- The following sentence has four parts
A, B, C & D Read and indicate the part which is

incorrect.

Q.25 The / judge / reprimanded / the both culprits.
A B C D
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SET-K

APTITUDE AND GENERAL AWARENESS
‘Questlon Nos. 26 to 50

Direction (Q. 26 to 28) choose the word which
establishes the same relationship as shown by the

first two words.

26. Ship:Sea::Camel:?
(a) Forest (b) Land
(c) Mountain = (d) Desert

27. Calender: Dates : : Dictionary : ?
(b) Language
(d) Book

(a) Sentence
(c) Words

28. Cat:Mouse::Birds:?
(a) Worms ~ (b) Horses
(c) Eggs (d) Eagle

Directions : (Q. 29 to Q. 32) complete the series
with appropriate number or alphabetical letter.

90 6 FianrpsiivaeieN WL

(@) 26 (b) 27
c) R (d 31

30, .. 7,12, 19,2839, ... Saiii e

(A) 52 (B) 49
©) 50 (D) 51
1. BMWER, ol
(A) O,K B) PN
© K,S (D) M,N
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- ze;ﬁ 28) wwaﬁrgﬁasﬁmam

S ErETAT T T AT g |

(A) T
(€) v ¢

7. dergrfafy ;v : ?

(A" T (B) e

(€) V= (D) &%
28. ﬁ?v‘ﬁ:—{s'r:;qﬁ:?

(A) HTS ®) g

(C) 3= (D) S

Foden - (. 29 32) P o 27wt W

AT AEHTHL |

29.  5(7511,13,17,19,23, coecerssrrmsseeees
A) 26 B) 27
©) 29 D) 31

30, 7,12,19,28,39, ceeereenrusnsnssucusunes
(A) 52 (B) 49

(C) 50 (D) 51

31. Z,X, VTR, i
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32

33.

34.

2%

=0

37.

BDFE,CFLDRE, ...[(5h......

(A) EIM (B) EMI

() CM (D) EJO

Select the diagram, which given relationship
- among : Judge, Thief, Criminal

" @

® @y @

e

Find the odd-one out

(A) Carrot (B) Tomato

(C) Potato (D) Ginger

Find the missing number

(A) 52 (B) 81

(C) 36 (D). 108

Where was Mahatma Buddha born?

(A) Lumbini (B) Sarnath

(C) Bodhgaya (D) Patna

How much is the term of office of the president

ofIndia?

(A) 3years (B) 6years

(C) 7years (D) Syears
JPDETKW / K
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32.

33

34.

35.

36.

37.

= W

BDF, CFI, DHL, ..............
(A) EM (B) EMI
(C) CM (D) EJO

SET-K

e fos g3, <t 3 T 2 ¥ =i

IR, ST

" @

(B) GD O
@ @240
D)

S fierd 2 S

(A) " TSR B) AKX

© 9 (D) FTF
T W st
ADEAN AN
Wy Wy
(A) 52 | (B) 81

(C) 36 - D) 108

TR S5 1 ST gl gofl ?

(A) T (B) WA
() dFT (D) W=

I & TgUfel 1 Frderel e & ?
(A) 39 B) 6=

(€) 79§ (D) 574
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38.

39

40.

41.

42.

43.

44.

Dalal Street Stock Exchange is situated in
(A) Delhi (B) Mumbai
(C) Kolkata (D) Bengaluru

Which is the highest rank in the Indian Army?
(A)
(B)
©)
D)

Major General
Lt. General
General

Captain

The fourblood groups is human beings are
(A) A,B,C,D (B) A,B,AB,X
(C) A,B,AB,0 (D) V.X,Y, Z

With which game, Sharjah Cup is associated?
(A) Cricket (B) Golf
(C) Hockey (D) Polo

Who is the Governor of Haryana?
(A) ShivRajPatil

(B) JagganNathPaharia

(C) N.N.Vohra

(D) A.R.Kidwai

Which is thehighest mountain peak in India?
(A). NandaDevi

(B)~. NilGiri

(C). Everest

(D) Kanchenjunga

Onwhich date is Children's Day observed?
(A) 2ndOctober

(B) 1stMay

(C) 14thNovember ‘
(D) 5thSeptember

JPDETKW / K
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38.

39.

40.

41.

42.

43.

44.

AT T TN RSS! el § 7
(a) oot ®B) T=E
(C) hicTshal (D) TR

T e AT H TS U A W E 2
(A) HS A

(B) .S

(C) “

(D) @I

AT & TRTRTTIEE i
(A) A,B,C,D (B) A,B,AB,X
(C) ABABO (D) V.XYZ

TR FU R TA A TSI ?
(A) Twee (B) TeH
(C) T (D) el

TRE S TAIARAT ?
(A) TS e
(B) ST Y TRISA
(C) TA.TH. Sl
(D) TR fweas

YA F T S T A A S ?
(A) TRIsaEt
@®) o
€ W=

(D) FHasm

o feaa fFe A AT ST S ?
(A) 23FHN

®) 1R

(€) 147

(D) 15 TEE=R




45.

" 46.

47.

48.

49.

N
i
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Who is the writer of book 'The Guide'?
' (A) R.K.Narayan

(B) Mahatma Gandhi

(C) Jawaharlal Nehru

(D) MulkRajAnand

With which instrument, the strength of electric
current is measured?
(A) Voltmeter

(C) Barometer

(B) Ammeter
(D) Audiometer

Who started the 'Shanti Niketan' school?
(A) Maharishi Daya Nand

(B) GuruGobind Singh

(© Rabindra Nath Tagore

(D) Swami Vivekanand

Which country is known at 'Sugar Bowl' of the
world?

(A) Brazil
(C) India

(B) Australia
(D) Cuba

How is the heat received at earth fromsun?
(A)
(B)
©)
(D)

By Conduction
By Radiation
By Convection
All

What is ISO =9000?
(A)
(B)
(©)
(D)

Rocket Technology

Sport Car

Standard of Quality Management
Gallantry Award

JPDETKW / K
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45.

46.

47.

48.

49.

50.

SET-K
‘T IEE YR T T i © 7
(A) R A0
(B) WRTHI
(C) SR A ew
(D) TS A<

forotett s s vifer o 2ot A Tt STt & 2
(A) dreeH (B) IR
(C) SRHIR (D) sifeandix

it Fordert ! ferera feper T foFan 2
(A) TR AR

®) Te et

(C) TTHTFSR

(D)~ T forarehT=

FH T2 fava F S w1 weR & €9 F S
SaTE ?

(A) ST
(C) ¥Rd

(B) emEfean
(D) w&

o ST gt ek Y TEE R ?
(A) FHEREFA

(B) feAwEEM

(C) THTARMEN

(D) &+t

‘37181 30.-9000 ' T T ?
(A) T THATR

(B) TR®R

(C) FATAIR Y4 Shl AT
(D) A TEHR
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54.

(91
W

SET-K

- SCIENCE
Question Nos. S1to 75

Which of the following reactions will not take
place?

(A) Zn+ FeSO, — ZnSO, + Fe

(B) 2KI+Cl, = 2KCl+1,

(C) Zn+MgSO, — ZnSO, + Mg

(D) Mg + CuSO, - MgSO, +Cu

Which of the following is not an exothermic
reaction. -

(A) CH, +0, — CO,+ H,0

(B) CaO +H,0 — Ca (OH),

(C) CH,0,+60,+6H,0 — 6CO,+ 12H,0
(D) CaCO, — Ca0 + CO,

The formula for washing soda is
(A) Na,Co, A
(B) Na,Co,H,0
(C) Na,Co,9H,0
(D) Na,Co, 10H,0O

NH, Cl is

(A) Acidic Salt
(B) Basic Salt
(C) Neutral’Salt
(D) GommonSalt

Whatjs the value of water of crystallization in a
molecule or washing soda.

(A) 5H,0

(B) 2H,0

(C) 10H,0

(D) 2H,0

“%5)53,' i %1 ArgT’ H P ¥

% 54 NH, C1 &

Yo 55 ‘U F1 EIE1’ & TF 19 | BFed & S 1 7H

JPDETKW / K
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To 51 37§ | I o ATTeHar geve 7E 2

(A) Zn+FeSO,— ZnSO,+Fe
(B) 2KI+Cl, - 2KCl +1,

(C) Zn+MgSO, — ZnSO, + Mg
(D) Mg + CuSO, — MgSO, + Cu

T 52 39 T Q F1 G SHIAT Taratie Afufwar 78

£ N\
(A) CH,# 0, —CO,+H,0

(B) Ca0'+H,0 — Ca (OH),

(C). CiH,,0+60,+6H,0 — 6CO, + 12H,0
(©)*CaCO, — Ca0 + CO,

(A) Na,Co,

(B) Na,Co,H,0
(C) Na,Co,9H,0
(D) Na,Co, 10H,0

(A) =g T
(B) &= @a0
(C) R & a0
(D) TURY T9F

%_

(A) 5H,0
(B) 2H,0
(C) 10H,0
(D) %H,0




56.

37,

58.

29

60.

61.
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When iron is heated in a steam of dry hydrogen
chloride, the compound formed is FeCl ., where
Xis

(A) 1
© 3

(B) 2
(D) 4

Froth Floatation technique is used for
(A) Oxide Orea

(B) Sulphide Ores

(C) Magnetic Ores

(D) Carbonate Ores

SET-K
To 56 T T I Y[ TITSISM TS Hi 4T H TH
fefa ST & o FeCl, ek o &, 516l W x §

(A) 1 (B) 2
(€) 3 (D) .4

Yo 57 B T qHIF 15T B foT sRwe #1 St ©
(A) SRS TeH
(B) WEEES T

(C) T=R1T TR
(D) FTEHE 3TTH
To 58 TWieet HIA F T w1 A2 §-
(A) Pb, Sn (B Cu,Zn
(C) Cu,Sn * (D) Zn, Sn
Yo 59 fA=fafed & IUPAC 71 fafaw
i) CH,0H i)  CH,COOH

(A) RIArA, TdAlsH 3T
(B) T, TIEH 3T
(C) R, AIARH 3T
(D) TSATA, AAATEH A

% 60 CH,CH,CH,COOH %1 I[UPAC 7 &

(A) JIoEH < (B)  WiuHfer s/
(C) U=TrEs® 3 (D) HARF A
%o 61 31E C,H,0, 1ot ferem =1 oot 2 a1 &, T 59
EEARICRS L
AECHO (B -OH
(C) ~COOH (D) -COOR
Yo 62 MY oTat fagma ford A feam an?
(A) =i -
(B) SfelET
(C) "
(D) Hrsat

[ ]

Solder is an alloy of
(A) Pb, Sn B+ -Ch, Zn
(C) Cu, Sn (D) Zn,Sn
Write the [UPAC names of following
i) CH,OH ii) CH,COOH
(A) Methanol, Ethanoic Acid
(B) Ethanol, Ethanoic Acid
(C) Methanol, Methanoic Acid
(D) Ethanol, Methanoic Acid
IUPAC names of CH,CH,CH,COOH is
(A) Propanoic Acid (B) = Propanol
(C) Pentanoic Acid (D) _ “Butanoic Acid
If CHO, turns blue litmus red then the
functional group present in it is
(A) -CHO (B) -OH
(C) -COOH (D) -COOR
Who gave the modern periodic law
(A) Newlands
(B) Dobereiner
(C) Mendeleev
(D) Moseley '
JPDETKW / K

https://previouspaper.in



A

~https://previouspaper.in

63.

64.

65.

66.

67.

68.

69.

In which pair first atom is larger than the second
(A) K, Na ) -Be Li
(C) Al Ga (D) O,N
In order to get a diminished virtual image, the
object can be placed any where in front ofa
(A) Concave mirror
(B) Convex mirror
(C) Plane mirror
(D) Any of these
Most of the refraction of light takes place at
which part of the eye.
(A) Iris (B)  Cornea
(C) Pupil (D)  Retina
Our eye lens is a
(A) Convex Lens
(B) Concave Lens
(C) Plano-Convex Lens
(D) None of these
Variable Resistance is called
(A) Resistor (B) Ammeter
(C) Voltmeter (D) . Rheostat
A fuse wire is connected. in electric circuits
(A) In series
(B) In parallel
(C) -Both (a) & (b)
(D) None of these
Tidal Energy mainly makes use of
(A) Gravitational pull of moon
(B) Gravitational pull of sun
(C) Gravitational pull of earth
(D) Wind energy
JPDETKW / K
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To 63 HH Y NS H T8l WA TR A TS T
(A) K, Na (B) Be,Li
(C) ALGa (D) O,N

To 64 BT S STHTH FTferel FTe AT &1 <l g 1 fohd
I T ST Gl ¥
(A) IreeIgd
(B) 39 TYUI
(C) T9aa g4I
(D) 39 H A HE T

Yo 65 FERTYT 1 & Q Al TadA 73 & fhg 9 W
AT

(A) aftaieRt. (B)
(C) et (D)

To 66 THN. S T ©
(A) STeTed
(B) SAaaaicid
(C) THe ol
(D) 39 8 § *rE &

8

A

Yo 67 UfEd! FFaY H1 FEd
(A) gfEE (B)
(C) diezE=t (D)

TR
o faae®

Yo 68 Torga aftag & w59 AR &I ol ©
(A) SiiEad
(B) TwEEEH
(C) (a) X (b) TR & H
(D) FHIFE o T

To 69 TE F1 TEAa: ThE 1 ITAN HI ¢
(A) =S=EF1TEEE fgaE
(B) §3 %1 Teeia fgr=m
(C) 3= =1 e fgam
(D) =7 el
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70.

/1.

32

.

74.

whn

== e ——

The breakdown of pyruvate to give carbon

~ dioxide, water and energy takes place in

(A) Cytoplasm
(B) Mitochondria
(C) Chloroplast
(D) Nucleus

The gap between two neurons is called a
(A) Dendrite

(B) Synapse

(C) Axon

(D) Impulse

In human females the fertilized egg gets
implanted in the

(A) Uterus

(B) Vagina

(C) Ovary

(D) Oviduct

An example of homologous organs is
(A) Ourarmand a dog's foreleg  »
(B) Our teeth and an elephant's tusks',
(C) Potato and runners of grass

(D) All the above

Which one of the following is not recyclable
waste

(A) Paper

(B) Torn Clothes

(C) Metals

(D) Plastics

Which of the following chemicals 1is
responsible for the reduction of ozone content
ofthe atmosphere?

(A) NO, (B)
(©) CO, (D)

SO,
CFC

SET-K

9o7omwaz%ﬁ@‘mﬁagméﬂ@3amrs€,w
awﬁ%ﬂ%,sﬁiﬁméﬁ%

go71aéﬁwﬁﬁm$nwareﬁwaﬁmﬁ%
(A) g
(B) faiw=
(C) =
(D) e

9o7zmaumaﬁﬁﬁﬁﬁlﬁaigars?mwrﬁﬂ‘zﬁm%
(A) TTHTH
(B). A

o 73 TS S T I T
(A) THRIEN ST T SIS
(B) e siRwe I

(C) A TE oIS & ERIEG LIl
(D) ST |t

wmﬁmferﬁaaﬁﬁfammgquﬁﬁmm
Sl
(A) I
(B) WEFIS
(C) =ngd
(D) =feH

9o7sﬁqfefi’@aﬁﬁaﬁﬂmwmargdﬁﬁaﬁ@ﬁ
=1 e 3 firree 1 SaErh €

(A) NO, (B)
(©) CO, (D)

SO,
CFC

(1]
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76.

i

78.

79.

80.

81.

Anumber ofthe form6q+2(qe N)is
(A) Always odd :
(B) Always even
(C) Depend on q
(D) None of these
What should least be added to 425 to get a
number completely divisible by 97
(A) 2 B) 3
€ 7 D) 6
Iffix)=2x*-x+ 1 and g(x) =x*- 3x + 1, then the
value of f{1)+g(-1)is
(A) 4 3 3
) .2 D) 3
Ifthe graph of a polynomial intersects the x-axis
in 3 points, then its degree cannot be
(A) 5 - SR
€) 3 D 2
The equations of x - axis is
(A) x=0
(B) xty=20
©€) y=40
D) x-y=0
If one root of quadratic equation 2x> + kx - 6 =0
is 2 then the other root is
(A) -1 (B =43
-3 3
© 5 D) 5
JPDETKW / K
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Mathematics
Question Nos. 76 to 100

SET-|

% 76 6+ 2 (q € N ) ¥Y &I I3 F&T1 Bt
(A) sawmfamy
(B) TAETEH
(C) q R fsiv &um
(D) ¥ # ¥ ¢ Tef

Yo 77 425 ¥ %9 | FH 541 Sre v, Fred @@t o
o ferenfora & s
(A) 2 ¥B) 3
© 7 D) 6

o 78 RfAx)=2x*-x+ 1 M g(x)=x*-3x+ 1,
A1)+ g(-1) &1 A BM
(A) 4 B) 5
©) 2 D) 3

o 79 wwmwm»a&aﬁaﬁﬁgﬁw

Tioese AT &, O 39 &1 S 91 7e 8 9T |
(A) 5 (B) 4
©) 3 (D) 2

Yo 80 x - 3% T FHIFHTO BN |
(A) x=0
B) x+y=0
(C) y=0
(D) x-y=0

Yo 81 I FHIFIO 202 + kx - 6 =0 FITH A 2 A A THY

T
(A) -1 1)
© 3 o 3



82.

83.

84.

85.

86.

87.

88.
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The areaof asquare is4x2+ 12x+9. Its side is
(A) 3x-2 AB) ragdx+2
(C) 2x-3 D) (agx+3
2" term of an AP is 16 and 4™ term is 20. The 1st
term will be
(A) 8 (B) (110
C).12 D) 14
How many terms are there in AP
RIS 102
(A) 7 (B) 6
(C) 8 D) 9
In two similar triangles, if the length of one side
of a triangle is 2cm and the corresponding side
of another triangle is 4cm. The ratio of areas of
these triangle is
(A) 1:2 @)= 33
(C) 1:4 D) 41
Aright angled triangle will be equilateral if one
ofthe angles is
(A) 45° B) “60°
), 362 (D)  Not possible
Find the coordinates of the point which divides
the join of (-1, 7) and (4,-3)in the ratio 2:3
(A) 3,1 B) 1,4
) £33 D) 0,0
The distance between points R (a + b, a - b) and
S(a-b,-a-b)is
(A) Va?+b?
(B) Va?-b*
(C) a+b
(D) 2Va?+b?
JPDETKW / K
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Yo 82 ARG I T AT 4x2 + 1 2x + 9 T 71 it Tk YT
Bt

(A) 3x-2 (B)  3x+2
(C) 2x-3 (D) 2x+3
Yo 83 TR Teh HHIK ! 1 T Ug 16 § 3 <hrem g 20
& R T B
(A) 8 (B) 10
(©) 12 (D) 14
To 84 T TS THIR Hgl A a7 ¥
I8 S o 102
(A) 7 (B) . 6
€) 8 D) .9

Yo 85 Tt gHEY s #, aft uw s #t T oqon #t
T 2em 3R G B 1 T e F T
4 cm AT Brysi & Srhet o erama & 8 |

(A) 1:2
(C) 1:4

(B) 2:1
(D) 41

Yo 86 T THIV TS qHag B 3T T i1 BT
(A) 45° (B)  60°
(C) 30° (D) EyaTEE

%87 39 foig % Fdwie s wifer, s fagsit (-1, 7)
3R (4,-3) = figem ot TErEE i 2:3 F S
# fgufsm s
(A) 3,1 (B) 14
(C) 13 (D) 00

T 88 fagR(a+b,a-b)RS(a-b,-a-b) &=
Tl Bt
(A) Vaz+b?
(B) Va*-b*
(C) a+b

Y (D) 2Va2+b*
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89.

90.

L

92.

9.

94.

Sin 2A = 2 Sin A is possible when A=
(A) 0° (B) 30°
(C) 45° (D) 60°

Shadow of a pole is equal to the height of the
pole. The altitude of the sun is :

(A) 30° (B &

(C) 60° D) W

From the top of a 7m high building, the angle of
elevation of the top of a cable tower is 60° and
the angle of depression of its foot is 45°.
Determine the height of the tower.

(A) 7(V3+Dm
(B) 7(\V3-1)m
(€) 73 m

(D) 7Tm

If TP and TQ are the two tangents from an

external point T to a circle with centre O so that {

/P0OQ=110°,then LTPO is equal to
(A) 60° (B) 70°
(Cy W (D) 110°

The length of the tangent drawn from a point
10cm away from the ¢entre of a circle of radius
6cmis

(A) 8cm
(C) 9cm

6 cm

(B)
(D) Scm

A steel wire when bent in the form of a square
encloses an area of 121 cm?. If the same wire is
bent into the form of a circle, find the area ofthe
circle

(A) 154 cm?
(C) 100 cm?

121 cm?
44 cm?

(B)
)

JPDETKW /K
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T 91

 Jo92

Fo93

Ho 94

SET-K
% 89 Sin2A = 2 Sin A T8 T B ¥ 5 A ST BT
(A) 0° (B) 30°
(C) 45° (D) 60°

Yo 90®@ﬁﬁmwﬁﬁé%w%lqﬁm

IS B

(A) 30° (B) 45°

(C) 60° (D) 90°

m S e @ TR @ U e el & R

T IO 60° & S T @ IS R STEAHA 11 45°
£ | ST A FA B |

(A) 7(V3+1)m
(B) 7(\3-1)m
(C).7\3m
@) 7m

?Iﬁ’TP,TQEﬁ?OH\ﬁﬁ?ﬁgﬁWﬁ&ﬁwﬁi
T | 2 =9 TEmd 39 g § fF ZPOQ = 110° @
ZTPO SUSRE

(A) 60° (B) 70°
- (D) 110°
e fig bom P et fell 39 % % 0§ 10om

g%|mﬁ§@ﬁm@mmma@%lw
EHIwEE e |
(A) 8cm
(C) 9cm

(B) 6cm

(D) Scm
@@%mﬁmaﬁwﬁ@aﬂmmﬁﬁmma‘r
=g 1 §9Fa 121 cm? ¥ 7fz == 91 F IAHR

w3 Hire e S A g9 &1 S5EE A
(A) 154cm*> (B) 121 cm?
(C) 100cm* (D) 4o’
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93

96.

97.

98.

vy,

100.

A circle of radius 7 cm is divided into two
sectors with angle 90° and 270°. The ratio of
areas of two sectors is
(A) 1:2 (B)
(©) 2:1 (D)

s
23

The total surface area of a cube is 96 cm?. Its
volume will be

(A) 384cm® (B) 100 cm?
(©) 216cm® (D) 64 cm?
The arithmetic mean of 1, ¥ SEEERa 2nis
(A) 2n+1
2

n-1
-7
€5
R
If mean is 15, find p
X 3-1015 0N

Foe 9o

(A) 7
(© 10

B) 8
(D)  None of these

1In a single throw of two ‘dice, determine the

probability of not getting the same number on
the two dice?
(A) (B)

© (D)

wto |~
O\fm' w’-‘

A bag contains 3 red and 2 blue marbles. A
marble is drawn. at random. What is the
probability of drawing a blue marble?

https://previouspaper.in

SET-K

%095 7em BT & Fw AT, 90° 3R 270° i F g
i ot fora S § | S gEe @ dsrei @y

ST AT & |
(A) 122 (B) 13
(C) 21 (D) 2:3

%96 TH T T G0 TS FAFA 96cm? ¥ THH
I 8|
(A) 384cm?
(C) 216 cm?

100 cm?
64 cm?

(B)
(D)

B S , 2n 1 THIAR HIET BT |

(D)5 +1

Y098 A AT 15 N D FHTHH w137 |

¥ ST i
F oo gty iy
(A) 7 (B) 8
(C) 10 (D) THAHFAFE T

uo99a‘rmﬁaﬁqqmzrmﬁm,a‘ﬁiwthﬁ

A A A HT Wi B
1 1
(A) < (B) 3
2 5
© 3 (D) -

¥ 100 TH S H 3 A oK 2 A wY ¥ wF w
A= fehTen S ¥ 1 s =0 Wiy & e
BENIRE I ki 6 Y

(A) % (B) % . %‘ (B) %
(©) 8 = £ = Dy =
5
) L=l :
JPDETKW / K



	1-8(1).pdf
	9-17(1).pdf
	18-25(1).pdf
	26-31.pdf
	31-37(1).pdf
	38-44(1).pdf
	45-50(1).pdf
	51-55(1).pdf
	56-62(1).pdf
	63-69(1).pdf
	70-75(1).pdf
	76-81(1).pdf
	82-88(1).pdf
	89-94(1).pdf
	95-100(1).pdf

